~JSi UZasna!“ radoval se klaun. , To bylo o fous.*

.Pani,“ podivila se Fara. VESELINE
7= N N\ [o 0 7+7=
12—4: 1 1 8+3=
9+3: = 2 12-9 =
13-13: 3 3 9+8=
8+9: 4 4 7+6=
14—5: 5 5 15-7=
6+7: 6 6 11-7=
11—9: 7 7 13-4 =
15-6 = 8 8 4+7 =
8+8= 9 9 8+6=
12 -8 = 14 -9 =
9+9= 6+9=
13-9= 14 -14 =
5+6= 14 -7 =
14 -8 = 9+2=
10+10 = 13-7=
17 -8 = T+9s
12-7= 16~9=
4+9= 7+12=
11-8= 6+6=
8+5= 15-13=
2+9= 19-9=
13-6 = 16 -7 =
16 -8 = 8+7=
11-5= 5+9=
13-5=

5%

TO BY USETRILO
SPOUSTU CASU.
ZADNE KOLONY,
HRBY NA SILNICI

A TAK.




